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Me 230 116 114
QU/A7| 400 204 196
H/ME /225 347 178 169
SAgtt/ad 353 181 172
ti+/8=/244 323 166 157
g/delHZz 347 176 171
Tl )
the s |
M 2,000
Me 230 23 31 44 44 44 44
QUH/A7 400 44 60 71 73 75 77
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O 7Is&
[# 1-10] 7H2! 7+S3k

Mg Mg | 17,248 | 24,352 | 32,681 | 34,055 @ 34,021 | 33,493
o124/247] ol | 10,403 | 14,018 | 17,501 | 18,819 | 19,169 | 19,585
#7| | 23,939 | 31,886 | 37,972 | 42,550 | 47,180 | 44,626
ohd | 8,015 10,902 | 14,461 | 13,119 | 13,193 | 13,330
TR ERTY. %% 5,555 5,113 5,734 7,463 6,696 5,514
Zz4 | 8,447 11,144 | 14,055 | 12,608 | 14,121 | 13,976
MZ | 9,730 | 13,254 | 16,076 | 16,707 | 16,573 | 16,340
BA | 6,816 9,886 | 11,494 | 10,965 | 12,144 | 13,408
SAgat/A g4 | 10,982 | 13,999 | 19,641 | 18,177 | 19,380 | 20,615
HY | 12,462 | 16,868 | 17,913 | 18,640 | 20,198 | 20,939
b | 10,380 | 13,196 | 15,748 | 16,038 | 17,330 | 17,282
T/ AS/49 2 | 9,833 13,314 | 16,409 | 15,695 | 18,310 | 19,289
HE | 7,344 | 10,209 | 13,550 | 11,092 | 12,542 | 14,622
= | 9,076 | 11,658 | 12,752 | 12,759 | 13,737 | 13,353
B2 He | 8,787 11,200 | 13,791 | 12,837 | 15,164 | 15,018
ek | 8,172 12,076 | 13,084 | 12,562 | 14,695 | 15,690
Az | 5,022 7,320 8,728 9,223 9,765 9,408 x o]
3 2]
XL
i
il ~ 2
Me Mg | 17,383 | 24,717 | 35,586 | 33,809 | 34,467 | 35,247 ,ﬁl
ol 24/27| ol | 10,288 | 14,651 | 17,121 | 18,502 | 19,752 | 19,412 ;:4
- #7| | 23,957 | 31,474 | 35,796 | 38,078 | 44,877 | 41,699 g
hd | 6,986 | 10,040 | 12,689 | 12,018 | 13,220 | 13,427
PRI %i 5,374 5,110 5,094 7,728 6,332 5,137 ﬁ'%};
24 9,173 10,236 | 12,222 | 11,984 | 12,987 | 14,730 Xz
MZ | 8918 | 12,251 | 14,405 | 14,941 | 15600 | 16,194 At
BA 6,382 8,840 9,746 10,680 | 11,642 | 12,889 =1
SAYSAY A SAb | 11,978 | 14,454 | 17,881 | 18,543 | 19,020 | 20,699 ij
Y | 11,991 | 15,331 | 15,841 | 18,322 | 20,015 | 20,224
i | 10,047 | 13,522 | 14,904 | 14,657 | 17,676 | 18,038
T /As/49 2 | 9,363 13,404 | 14,715 | 14,269 | 16,666 | 18,335
e | 7,018 9,353 11,515 | 11,302 | 13,217 | 13,980 £
Zz | 8914 | 10,787 | 13,193 | 12,004 | 13,721 | 13,150 =
- 2 | 8059 | 11,794 | 12,506 | 11,805 | 14,296 | 14,026
SF/AHAT e | 8599 | 11,121 | 10,647 | 11,028 | 13,160 | 14,014
Az | 4,937 6,650 7,361 8,672 8,976 8,772
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O B2 4
0 1- HIl ZAF BE
[ 1-11] ALA| ZABE (rel: 7h)
A 500 2,004 781 215 3,500
=9, Y49 L o 4 31 1 2 48
29 U H2A 46 246 104 27 423
HI|, 714, S| L =AY 3 19 16 6 44
St - M7 22|, A2 L &HE =2 6 51 20 2 79
HHEN 25 171 57 20 273
Sof 2 AOHY 75 198 57 13 343
259 47 107 58 13 225
ek gl SAHY 66 150 28 7 251
£, g, 5S4 U FEAMHAY 14 91 44 14 163
=28 L 23 12 134 43 13 202
ESA U QATHY 30 93 21 6 150
HE, oret A I AY 24 120 48 19 211
AGAIE 2] & AR RS M A Y 18 100 57 27 202
WEMHAN 31 141 88 17 277
HAY U AS| 82| MH|AY 25 185 74 19 303
Olg, AX= A o7k MH|AY 26 67 29 7 129
5| A ChA|, 2| L 7|EF 7Ol AH|AY 48 100 26 3 177
O 7ta#
(B 1-12] AEA 7152k
=9, Y9 2 o 803.50 30.23 9.73 1.50
2 U Hz2A 8032.37 238.14 97.97 25.15
oI, 7tA, 7| L £EAY 574.67 17.37 15.94 5.83
St - HI7|Exe, YEMY U &Y 224 | 1027.17 47.80 18.40 1.50
HHEN 4462 .24 162.80 53.84 18.85
S0of 2 A0 13157.33 187.30 53.70 12.46
25¢ 8212.00 102.13 55.67 12.38
St SAHEY 11275.11 142.55 26.04 6.57
£, I, LS5S4 U FEMHAY 2431.86 85.98 41.64 13.29
=28 %L By 2055.58 126.47 41.72 12.31
EEA A QUTHY 5052.23 87.49 19.62 6.00
HE, a5t L 7|sMH|AY 4006.79 113.63 44,98 18.11
AFIA[E 2] D ARSI AMH| A Y 3184.06 94.42 54.42 25.37
WEAHAN 5267.16 133.58 84.07 16.76
HAY U AS| 82| MH|AY 4373.20 176.08 70.47 17.47
O, Ax= al o7t MH[AY 448419 62.82 27.59 5.86
5| U ChA|, 2| L 7|EF 71Ol ME|A Y 8335.48 94.88 24.81 3.33
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[£1-13] AFL87|2 ZALEE

(SH91: 7H, %
A 606 100.0%
=S8t 228 37.6%
i 164 27.1%
A1Sel 139 22.9%
2 75 12.3%
CH&tn 2~3EA 32 39
AcA 43 7.1%
O 7I3#

[E1-14] AAuS7|2 7%

35 2SSt 27.59 20.27 20.82 20.92 17.22 16.44 14.88 49,54
Iol- L
= Zst 25.73 17.20 15.63 15.00 12.86 12.57 10.50 33.42
o
;1 nE=s-iam] 24.62 15.89 13.29 15.63 1117 10.33 9.50 29.69
o
g—i HIoyst 4.50 450 3.50 3.00 3.00 4.00 2.00 7.75
4 A chetw 8.20 433 2.50 2.50 4.00 4.00 2.00 7.75
A Al
4 B
¥z | cize | uE | 8% | su | m | We | Am | W | AR | B
%l 2SSt 2493 | 21.58 | 27.27 | 2793 | 28.60 | 31.40 | 29.47 14.13 9.80
& S5t 18.00 | 15.75 18.60 19.00 | 2067 | 21.83 | 21.92 9.00 6.00
1asstn 1450 | 12.00 14.63 1478 | 15.78 | 18.40 | 19.00 7.50 6.00
_I?i_ H2chet 450 2.50 3.00 450 450 5.00 5.00 2.00 1.00
% 4EAACfs W 5.00 4.00 5.00 450 5.00 6.00 4.00 2.00 2.00
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b 227 100.0% -
YR 18 7.9% 2.50
7| ZA|GALR| A 56 24.7% 4.04
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2020 S o|2'd AR == & 1,9057H2 &
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IECE] 94707t = S7t5t 5.2%

[# 2-1] O[2{'d ArRAL 4= Z0| & (THl: 7H, %)

- 20154 20164 20174 20184 20194 2020

A 1,765 1,639 1,680 1,753 1,811 1,905

ezt

—

ol

tg 4.4 -7.1 2.5 4.4 33 572

20208 Ol2{d AfUZQ| CHEAIYE H2ZE HH,  AHA ARAAZE 1,1637H2
61.0%, ZHAHRZL 463702 24.3%, ERUAGATL 279742 14.6%E R[St
1 ULk Skt & 9470 MR & SRMAGEAE 2601 S7t= 10.3%2| 7t w2
3/tgs B

[E 2-2] AIE=20FE 0[21'd ArRAt &~ (EH2l: 7H, %)

- 20154 2016 20174 20184 20194 20204 Mdcyy| 32
94 5.2

A 1,765 1,639 1,680 1,753 1,811 1,905  100.0

ZE= | 411 | 233 | 392 | 239 | 408 | 243 | 412 | 235 431 | 238 | 463 | 243 | 32 74

£3 4| 238 | 135 | 221 | 135 | 232 | 138 | 240 | 137 | 253 | 140 | 279 | 146 | 26 | 103

MHIA | 1,116 632 | 1,026 1 62.6 | 1,040 619 | 1,101 628 | 1,127 622 1,163 | 610 | 36 3.2

* &2M 1IIF|R| SW + ITAH|A
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202048 Ofzfd BEAS 42 63014908 WASIYCL Ok 20194 Ofzid BhE
% 3z 9,5150%@ tiis| 17.29%7 S7Iet Hoick. ]
‘2

[#2-5] 0|2{'d S5 Al w2 F0| (Thel: I, %)

R T T

20034 1,077,041 - -
20044 1,298,484 221,443 206
20054 1,470,817 172,333 13.3 J;il%l
20064 1,617,797 146,980 10.0 Zhud
20074 1,727,057 109,230 6.8 §
20084 1,870,475 143,418 8.3 Al
20094 2,091,033 220,558 11.8 :_4
20104 2,245,833 154,800 7.4 &
20114 2,451,364 205,531 9.2
20124 2,747,766 296,402 12.1
20134 2,947,083 199,317 7.3
20144 3,214,167 267,084 9.1
20154 3,485,119 270,952 8.4
20164 3,487,574 2,455 0.1
20174 3,699,183 211,609 6.1
20184 3,845,009 145,826 3.9 ’i"gel;
20194 3,951,593 106,584 2.8 ’é*ﬁ
20204 4,630,115 678,522 17.2 =
X A% TR 1 712 thEH0| E3H| (33) ch
2.2. ol2{'d AIY FOfE OiE =
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MHIAARRIZO] DHEMS 3z 3881002 AUTfH| 19.5% Zvbi MY AR =
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Mo 1Q o

[ 2-6] 2020\ 0|2{) Df&0H 23 (THQ|: 7, %, HHOH)

27| | 3487574 100 3,699,183 100 3845009 100 3,951,593 100 4,630,115 100

e "= | 678,941 20.2 | 720,765 | 19.5 730,126 1 19.0 | 751,212 | 19.0 | 840,440 18.2

2
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50cH 014 21.8 226 19.1 2.6 13.0 &
RoHol3% 8| o2 N
23 7.1 6.6 5.7 4.8 0.1 ’g*EEH
|28 9.1 5.3 6.7 7.0 0.2 g
o4 4.9 8.1 4.6 25 0.0 A
3~94 13 44.9 0.0 0.0 0.0 .
10cH 8.2 0.0 11.9 0.7 0.0
ozg | 20C 6.5 2.1 7.1 6.7 0.0 .
CHE | 300y 7.1 9.9 4.1 5.6 0.5 -
40t 6.9 6.5 4.1 5.6 0.0 -
50ch Of4 9.5 2.0 2.4 6.8 0.0

A3 ol2{d +2AY &

r
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=
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S
At
=
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[# 3-13] 7HASSE 02

£7 3% 2OF(1+229]) (91: %)

70 252 2oty aiay
4

M| 50.7 34.8 27.9 20 18.6
= 46.0 353 311 21.2 11.5
g4
014 56.0 343 24.4 19.5 26.5
3~94 53.1 20.7 0.0 63.1 11.6
10CH 55.9 216 76 56.7 10.4
o2y | 200 46.6 34.1 4222 7.7 217
g | 30cH 55.4 375 33.8 4.7 20.7
40CH 48.7 46.5 27.4 16.7 17.2
50CH O At 46.9 39.0 338 4.3 255
yelE | SEsENE | gobolHst 2
M| 17.4 1.4 10.5 8.2 0.1
= 21.4 13.8 12.9 6.7 0.2
oy
0] 12.9 8.7 78 10.0 0.0
3~94 1.8 0.0 0.0 493 0.0
10CH 19.9 3.9 24.0 0.0 0.0
oizy | 20CH 17.2 15.1 12.4 3.0 0.0
g | 30cH 12.4 13.4 6.8 14.7 0.5
40CH 16.2 12.5 78 7.1 0.0
50CH 0| A 29.2 15.1 33 3.0 0.0
[O& 3-7] &= 0l2d =& 3| FOF(TH2: %)
w19 m1+229
50.7
34.8
23.
17.
10.5 114
N B ‘ 01 04
220 X}z g =3 FOyRY HEIE QO4OFT £S5 MUE F|E
LU L mE-=3 AE
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3.5. 0|2{d 0|8 U=

olz{d 2O Tt=LE AMWEM  Z24’0| 54 QM| 3.694C=2 7t =1, O
ozE ‘AHI|E 3.67%, IUI/"°F’ 3.65%, ‘=20 3.64%, ‘SSHsEAE 3.62
Z £0| 207 3.6 O|AIOZ LIEFLCT

[H 3-14] JHAUEME 0|2]'d ZOFE THZ & (Th]: 53 THY)
2010|338t 08| 220 anaiy | S8t 2|2
M| 3.49 3.44 3.62 3.56 3.69

| HA 3.33 3.40 3.56 3.57 3.70

°= o4 3.68 3.48 3.71 3.54 3.67
3~9M| 3.43 3.48 - - 3.35
10CH - 3.31 3.66 3.58 3.66

ol | 20y 3.31 3.58 3.60 3.60 3.71

cHe | 30cH 3.41 3.50 3.77 3.61 3.70
40cH 3.62 3.49 3.52 3.45 3.68

50CH O] 4¢ 3.81 3.54 3.50 3.58 367

| 3.64 3.67 3.65 3.58 3.57

g | HA 357 3.68 3.70 3.60 4.05
°= o4 3.71 3.65 3.60 3.54 3.06

3~9A| 3.58 3.22 3.78 - -
10CH 3.73 3.74 3.78 3.61 2.42
ol | 20y 3.55 3.79 3.41 3.71 351
i | 30cH 3.83 3.67 3.80 3.60 -
40cH 3.60 3.63 3.53 3.34 458
50CH O] 4 3.54 3.56 3.75 3.70 -
[0 3-8] 0]2{'d FOFE PH=EE (TH2]:%, 54 THH)
e HEL(5E HF) —0- BEH|S(%)
3.65 3.58 3.57
goynyE =Zn 2 ng 90|  HEIE HO/RE MNoUIE  E
2S  EMIY ST

A3% o2l 4oAly

0||
oot
Nel
(9,

Mo 12 o

ofd—
bo=2 2 b

Al
=
EH
S
At
E
o
A
x|
=l

Jhu



Mo 1Q o

0l2{d 0|8 H=ZLE AmEH, ‘Qua|Ql SHEH|E LiiH| 02 HIE2| ZeF0| 53 2o

=
3.67422 7t¥ =11, [I22 2= 0|2{d SHEAI7te| A4 3.45%, ‘E2fQl Sh&LiH|
5t£0| 5

IT
ol2fd sh5el oY 2’ 3.264 &£2= LIEC]
HAIELERZ ‘uafol skSH|E CiH| 0]2{d H|E2Q| Hof TIRL'E AmEH, dE82E
ﬁﬂﬁ 0{4o| 3.69%C=, HHCHEZ= 30C 3.85%, 20CH 3.75H0IAN =A| LIEHIALCY.
M
o

[# 3-15] 7HASEE 0219 0|8 U= (THel: 58 T

2xajol saH|R Ciy|

[=]

o[2{'d H[&2| Het

A 3.45 3.67 3.26
e 3.44 3.65 3.32
g
ol 3.46 3.69 3.20
3~9M| 3.33 3.40 3.17
10CH 3.40 3.57 3.25
20cH 3.52 3.75 3.21
AFUE
30CH 3.48 3.85 3.43
40CH 3.40 3.63 3.18
50CH 0|4 3.46 3.61 3.27
Lél
EN
=]
! [22 3-9] 0[2{'d 0|8 BHE (T9:%, 53 TH)
3
st e MEL5HE HF) —0-UEHIE(%)
60.3
Al 465 37.2
4 5
Xt X
o —d
At 3.45
=
A
Xl
[=]
- o2 FHAZO QIO BLH|S O QIO SELH|
= A Oj21Y HIZO| ot 02 T FU ML
=
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Mo 12 o

3.6. O|21'd =& e}

ol2{d t&0| ACZE OfEA HASIER|0| CHsi AmE™, SHiE Z0l2k= 20|
77.2%(10% O|4+ 22.6% + 5~10% 32.1% + 0~5% 22.5%)2 ‘ZAE Z0|2H= oA
(6.2%, -10% O[5t 0.7% + -10~-5% 1.5% + -5~0% 4.0%) 2L} Sixs| o, ‘[A|E
JOJ2Hs OfHS 16.6%2 LIELE i
oA
‘S Aol2ts MY0| RAMIS 7k, £3l, 5~10% d& SiE Z'0l2k= 20| 2

32.1%E 71 %1, T2 2= “10% Ol = 22.6%, 0~5% = 22.5% 2| &=2=
LtEFRLCE.

(7 3-16] HISAE Ol2id) Bt HBH(EH2: %)

| ax [ ea|
- (+) = 0, -5 0, ~ of. ~ 0,
10;6 10% 5%~ 27 0% 0% 5% 10% 27
o[t | ~-5% | 0% 5% 10% 0|4
A 0.7 16.6 225 32.1 226 | 77.2
= 1.2 2.1 3.7 6.9 17.9 239 28.7 22.6 75.2
g

oy 0.3 0.9 43 55 15.1 20.9 35.8 22.7 79.4

3~9A| 0.6 2.0 49 7.5 305 18.0 233 20.7 62.0

10C4 1.4 2.5 8.1 11.9 20.9 18.3 32.3 16.6 67.2

20ty 0.9 1.1 1.4 3.4 15.0 25.2 314 249 81.5

HEod

3004 0.0 1.5 2.5 4.1 10.5 247 33.1 27.7 854

40CH 1.3 1.0 3.6 59 15.6 251 27.9 255 78.5

50CH O 4t 0.0 1.5 5.2 6.7 17.3 18.4 41.0 16.6 76.0

[13 3-10] 0[21'd &t& HIHTHR: %)
M Al
321 4 Ef
EES
AL
22.5 22.6 =
A
16.6 &
4.0 =]
0-? 1-5 _'_
I g
-10% 0|t -10%~-5% -5%~0% 0% 0%~5% 5%~10% 10% O| 4
=2 B gy

A3 ol2fd LA & 97



Mo 1Q o

3.7. ol2l'd Ak

O[2{d 0|8 Al EHAIYS HTEH, 12922 S50 tst ZSH0| Zoj2ICy = 2|40

2=
39.3%2 7Ky B3, THSORE WS So| B 23.2%, HI8| Hi RSEI 4
mi

12.2%, ‘TEfol w1 ChH| ¥ &17F Ho{R' 8.7% S°| &9=F LIEIICE
ES
e 142492 & ‘B0l 3t FZH0| WoAICh = Q0| 59.1%2 748 B1, Chgoss
o
= AUE 59 2 44.5%, ‘WK ZISHH0|R| 28 28.7%, ‘2IE2IQl W& CHH| W] 17}
B 27.7% 59| =02 LIEICE
[H3-17] 7HQIEHE 0|21 0|8 Al 2HAR L ZAIE (1=2]) (H: %)
Qmajol
A “
H o] 'E}T'%TI Sl | S chyl
2 2 e mE=3
o 0] =17
= ::4011| 2347t
g =
X 23 39.3 23.2 12.2 8.7 8.4 8.1 0.2
foj g | EA 373 22.9 13.5 95 7.9 8.7 0.1
5 °= oy 416 235 10.7 78 8.9 7.3 0.2
3~94 | 41.0 23.6 16.8 3.1 10.1 5.3 0.0
10cH 37.9 17.9 13.3 95 14.9 6.6 0.0
oz | 20C 38.9 23.1 12.7 11.2 5.7 8.4 0.0
o | 30 47.4 243 11.8 6.1 4.8 5.7 0.0
40t 37.6 232 9.2 8.3 96 12.1 0.0
50cH o] 32.6 28.0 12.8 9.9 7.4 8.1 1.1

[#3-18] 7HAEHE 0|21'd 018 Al SHAIY & 2AHM (1+222)) (T2l: F, %)

H Al st5ol|
A “Hory ol
=

i:,' k| 59.1 445 28.7 27.7 22.4 17.6 0.2
|28 56.8 44.9 29.5 26.7 23.8 18.1 0.1
°T oM 61.7 43.9 27.8 287 20.8 16.9 0.2
3~9M| 66.9 39.6 31.8 219 15.8 241 0.0
£ 10CH 57.7 426 38.1 27.7 16.0 17.9 0.0
= o1y | 20cH 56.2 451 28.9 29.6 24.1 16.0 0.0
e | 30cH 66.2 455 24.9 24.7 23.2 15.5 0.0
40ch 53.6 46.7 241 28.0 28.4 19.2 0.0
50CH 0|4 60.7 433 26.5 30.2 20.7 17.6 1.1
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3.8. 02|t DHIYY 4ZA|ZH

HEE 0l2ld FF B 0|8 AlZS 4mEH, 2019E0f= B 4.73A12F, 2020H0=
Gt 6.09A12t22 ZEH| 29.0% S7totL, 2021'H(04)0ll= Ea 6.67A1Zt= HA
CHE] 9.5% 371 A= ol¢fsll 0[21d & Et 0|18 AlZk2 HES| 7t FHE 22
NO= LIERTY.

SHIHd £ G 0|8 AlZts AmEH, 2019E0= Bt 3.17A12h 2020E00=
Yt 3.83A2t22 HMEMH| 20.7% S7tetd, 2021'A ()0l Ea 4574122 HA
CHH] 19.5% 37t A22 ool ZHIYEE F& Ead 018 AlZt: F&35| 37t FME
2 Ao= oldsl= 7H2H, 2021E0= 0l21d 37 E0d A2z Eelrt

[# 3-19] JHASSE 0[2{'d/2HIEe'd & Bt 018 AlZH(TEHRI: AlZH)

. o2y 2Ry

=

A 4.73 6.09 6.67 3.17 3.83 4.57

o = 4.69 6.01 6.44 2.96 3.63 424

o 476 6.19 6.93 3.41 4.04 494

3~9M| 3.33 5.88 6.67 2.00 3.99 476

10CH 4.46 6.38 6.82 3.01 454 4 .95

A0y 20ty 6.27 7.69 8.12 4.21 417 5.08

E: 3004 4.57 6.25 6.94 3.66 427 5.09

40CH 416 4.42 497 2.39 2.92 3.71

50CH O] 4 4.03 522 6.02 2.51 2.92 3.64

[3% 3-11] 0|21t RHtUR{'S = B OI AIZH(THRI: AlZE, %)

e OB (FE BE +2AIZ BHYHL(FS BF FLATY
o 0[RS {FELH] S7HE) o QHIQS LF I SZE)

6.67

4.73

3.83
317
1 Il
20193 20208 2021

M3 ol2id +2A% & 99

Mo 12 o

of—
FO=2 2= A

w
{d

o
C

o
A
T
L
Al
Iol‘
&
st

(0} NG

2 oM 2= Y >

Jhu



Mo 1Q o

3.9. 0|2{'d H|O|E}
3.9.1. 0|2{d= O|85HA| = OlF

Ol2{d HIOIBAE tHE22 1 | ou CHsH AT=D, TS oLt T wilg nay|
M= [[H_I:'I_’0|E_I_h O|740| 26.2% = 714 Ef—ogt ‘%Rg% Lzl 2 =14 19.9%, ‘J_.I,_%
g A2t 23 98 % Zerel B0l UHE A 16.9% Sol £02 Lekich
o
(@]

HRISHEZ 0l2{d HIOIE O|RE AMEH, U2 AoL}, HZ WS 2=27| F0[2t
= QA2 HEEE= HH0| 28.1%, HHWEZ= 40t 30.3%, 30t 27.8%, 3~9A| 27.3%

OflM TAL, ERHES L7A| ZEIF = A2 HFEEZ= 100H 35.0%0A TRUACH

7
3| 16.9 26.2 19.9 16.9 13.0 7.1
A e 16.9 28.1 18.5 17.8 1.4 7.2
ol 17.0 24.3 21.2 16.0 14.5 7.0
3~94 20.5 27.3 20.7 17.4 12.2 1.8
10cH 8.8 9.7 35.0 19.7 24.5 2.4
olzy | 20CH 14.2 16.2 21.0 17.8 15.4 15.4
CHE | 30cH 13.5 27.8 20.5 173 13.7 7.3
40cH 22.9 30.3 17.0 9.4 14.2 6.2
50CH 0|4 15.0 26.1 19.7 21.5 10.2 7.4

M A [Z13 3-12] 0]21'4 H|O|E O|F(H2I: %)
4 6
Xt X
o —de

At 26.2

=

Zjll 19.9

= 16.9

| =]

=

=2

MO S 2e4E RS W IAN Y B9 S
L% 2 B 22 W TO B WHO UE 3

100 20201 ojzAtes MERZA}
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3.9.2. &= ol2fd &5 ¥

o[21d H|0|8ate| k= Ol|2{d otg Qlgkof Cfsh H#MHEH, 67.0%= 20| U=
AO=2, 33.0%c 20|

ooll

HOISMEE 55 ol2iy Bt OlFS MTED, ‘OJF UCKE oS MERE WMol Ax
1 A
68.9%, HHHEZ= 500 0|4 76.1%01M HRULCE. ’é”gi

MM AIHE 0|24 H|O|E 0|8 = A2 i
Ol2d Bt& olgt0| &LH= e o2fd 0|8E

- O o

rH
T
I

[# 3-21] JHASSE HIO|BAS| &% 0|2{'d & 2 (THl: %)

st

M| 67.0 33.0
R 68.9 31.1
ge
014 65.2 34.8
3~94 45.1 54.9
10tH 56.3 437
20cH 64.6 35.4
AP
30 66.3 337 i
40t} 64.6 354 s
50CH 0|4 76.1 23.9 Al
=
5
st
[1% 3-13] H|0| 82| &= 0[2{'d Stg 2 (Th2l: %)
M A
4 Ef
XX
o -
Al
=
A
x|
(—|
=]
]
=
=

H3% o2d +2A1%

0
ol
ofor
—_
(e}
—_



Ho 1@ o

3.9.3. 0|2{'d 0|& A|7|

0[21d H|0|EA & &= 0l2{d ¢ FALQ| stg Oflef AlZIofl CHoH AmHEHE,
13 o|WEkE Q0| 52.7%2 7t I, Cge=2s 2E Ol 20.0%, ‘67HE
W 15.0%, 29 0|F 12.2% =22 LIERICE

o>

9|

ool

A
ko= 2= A

HISHEE 35 of2id 8% OI4 A7IS ATEE, 14 oyt oS MEE
40| 55.7%, HHHERE 200) 59.1%0A BT

rir

(=}

[# 3-22] 7HAEYE H|O|EAt 0|21'd 0|8 Al7| (TH2: %)

A 15.0 52.7 20.0 12.2
= 19.0 499 18.4 12.7
g

o 10.8 55.7 21.8 11.7

3~9M| 226 54.3 10.5 12.6

10CH 14.0 493 175 19.2

20cH 8.5 59.1 19.7 12.7

A

30cH 8.2 58.5 23.0 10.3

40cH 17.2 455 22.0 15.4

50cH o4 17.2 533 19.1 10.5

(28 3-14] H|0|EA} 0[2{'d 0 & A|7| (T2l %)

x| A
4 f
S
At
E
o
A
xI
[=]
1H0|LY
527
| =]
=
=2
=

102 202014 ojzdAret MEfZA}



3.9.4. o|2d &5 +Z 20t

loh

o3 olzid s& oAl o)Rd 4%
=]

| =2Of0 Coll &WEH, 1=f2=

e =] o
=0 EO0l2t= 2|740| 39.8%= 7t W, OISO 2= A 28.1%, A 10.9%,

HRI|E 8.8% &2 &= LIEIIC

1422925 =0 F0l2t= 20| 66.1%= 7t& B1, Ll 2= A’ 56.6%,

HEI|IE 21.7%, AT 18.4% S =22 LIEMRILCL

lol

HASHER 02d =8

2= 300 45.4%01M UL, A

L

[& 3-23] 7HeIEM

2 2OH(129) S ATHEE, ‘90 SOt oS Ry

IBhe QA2 HYBUEZE= 200 41.9%01|A] HUTE

2 39.8
LA 388
oy
o 40.9
3~9A| 39.6 17.8 0.0 4.9 11.3
10cH 24.7 13.1 8.1 0.0 49.9
oz | 20cH 332 41.9 7.5 7.3 0.0
CHE | 30c 45.4 25.2 9.8 12.6 0.8
40cH 38.1 30.3 8.5 143 1.7
50CH 0|4 40.8 27.9 15.4 5.1 1.4

3.4 2.8 2.4

A

. ey 5.3 1.9 2.7 0.7
o4 13 3.8 2.1 0.4
3~9K| 0.0 3.7 227 0.0
10CH 4.2 0.0 0.0 0.0

oy | 20c] 4.3 3.5 0.0 2.2

CHE | 30r4 0.7 1.2 2.3 1.9
40cH 3.8 2.7 0.7 0.0
50CH O] A 4.6 36 12 0.0

A3 olzid +241% =& 103
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[H 3-24] JHASSE HIO|EAI| &= 0[2{'d =& 20F(1+2:=2]) (T2l %)

2| 66.1 56.6 217 18.4 13.7
ey 65.1 58.6 226 16.8 10.4
g4g
o1 67.1 54.6 20.7 20.1 17.2
3~94| 66.5 36.1 16.1 0.0 16.8
10cH 40.7 40.4 9.1 13.2 1.9
ofzy | 20CH 65.2 77.4 16.1 18.0 73
OZ | 30c4 72.3 62.3 18.8 13.7 16.3
40t 65.0 58.7 26.6 21.7 9.9
50CH 0l4f 65.8 52.7 22.9 21.7 158
AesUNY | 23D DAY sl Qol/oj3/3t @
2| 7.9 6.2 5.7 2.7
e 1.1 6.9 5.7 2.7
EE
o1 4.5 5.4 5.8 2.7
3~94| 0.0 26.6 0.0 24.8
10c 21.5 54.2 0.0 0.0
o2y | 200K 4.3 4.1 75 0.0
o2 | 30 5.5 3.9 4.8 2.3
40t 95 2.4 55 0.7
50CH 0l4f 8.8 36 7.2 16
[13 3-15] H[O|8A2| &% 0|2{'d =& ZO0F(THel: %)
12 m1+2:8
66.1
56.6
39.
281
18.4 21.7 a7
0 88 6.2 7.9 ' 5.7
3.2 3.4 3 2427 45
9|z0f e e m®EIE =32 3% FO/EY oy NAYs
DY SN e
2g
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3.9.5. MugH| 2|& o Y

0[21'd HI0|EZte| 20204 7|& Atu|H| AWT ZZHo| CHe{ HMEH, 2020
O|AFO|2t= o|Z40] 39.9%2 71 W1, Cieoz:= ‘92’ 27.0%, ‘10~208He Ojor
19.8% 2| #0|0, W 26.76T+ACE LIEILITCE.

HRIEHERZ 2020 7|& AtusH| HEA ASUS HT{EH, AYIHE2= 100 40.92
Ok, 40CH 33.647HA0IA QLT

[# 3-25] 7HASHE 2020 7| & AtuSH| SEd AU (Ll %, )

~ | 5~102k | 10~20%

23| 27.0 6.2 7.1 19.8 39.9 26.76
e s 27.6 5.2 6.9 19.7 40.7 27.16
ol 26.4 7.2 7.3 19.9 39.2 26.36
3~9M| 26.1 13.4 9.2 18.3 33.0 20.85
10cH 1.5 2.5 7.3 14.1 64.6 40.92
o2y | 20cH 36.8 5.9 1.0 22.3 33.9 13.72
tHE | 30cH 245 5.2 13.6 19.5 37.2 23.77
40ty 26.7 5.5 8.9 13.1 45.8 33.64
50CH Ol4 | 27.9 5.7 3.2 25.2 37.9 26.61

[1E 3-16] 2020 7|& At sH| 2Ed A& (T2 %)

39.9

27.0

19.8

6.2 7.1
e 03 =~5Th 0|2 5~10TH O] 10~20TH2 O] 2072 0]

A3 olzfd +2A1% =& 105
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Al
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2 0l21d sk ogAtel 2 ol2d LT AIEMHof| Chsf Am{EM, 10~20%
‘5~102H4 D0|2F23.1%, 20
A Ol0] 22.2%, O =a~5THA DITF 21.9% #O|H, Ed 11.332AC=
LtEFGLCE.

o
o
2
o
i
rir
10
N
°
w
N
(0]
X
hu
N
03!
2
H
m
oo
o
Hu
rir

oC

S MMHE, AHHER2E= 200H0A Ed 16.458

e

WIS EER = 0[2{d & 4|
Ho= CHE Aol HlsH AT

[# 3-26] /HASSE Y= 0l2{'d EE T AZAH(

0¥ 23}~ 5~109H 10~202H
o = = ote] o] At m
A

ro
{0
X
ra
o

rie

||:|_|'
21.9 23.1 32.8 22.2 11.33
=4 17.0 23.3 38.7 20.9 11.19
ek
o 27.0 22.9 26.6 23.5 11.48
3~9A| 18.5 11.0 57.7 12.8 10.14
10ty 3.2 30.0 45.7 211 13.20
20CH 6.2 24.4 37.5 31.9 16.45
B
30cCH 28.3 29.1 25.6 17.0 9.20
40CH 251 23.6 30.9 20.3 10.25
50ci ol & 22.0 21.0 31.8 251 11.97

(13 3-17] $F 0l21 FBI AZA(2H24: %)

32.8
: : I :

03l Ed~5202 02k 5~10%H O] 10~20%2H D)2 207HA O] 4
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4. A
4.1. ol £Q HE
20204 Ol2d UBL 10.6%2 LIEKICL 2016 6.4%, 20171 6.6%, 20184
6.7%, 20194 7.1%2 0 P&5| 275t Qs zd_; S iy
‘e

7| REE of2id EUSS AWEM, 3002 0MUAE 78.6%2 30091 0210, 5%)
HOFEM &1, 30091 0|2 & 50~29991 48.3%, 10~492 24.0%, 1~991 9.1% &0
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5. rus7|d
5.1. o]2'd =¢ g
20208 Ol2{dE =Y - 285t U= Pru|7|A2 96.4%2 A= LIEfRICH,
2019 ChHH| 7.4%p 371t ALz A S7HME E0l= A= LIEHLCE
ZASEHE TUSS AHEE, 25507t 98.3%2 1A &1, Z3t1 95.0%, 1S3t
94.3%, 43| CHSIW 92.4% &2 &2 = LIEHFITY.
ASstu= 20194 tHE 17.9%p 3716l S7120| 71y 2 A2 2 LIERITH.

—

[E 3-77] 0l21d =UE (ZH2: %, %p)

A 87.9 88.0 88.3 88.4 89.0 96.4
255 93.2 939 94.2 943 94.7 98.3 3.6
st 86.9 87.2 875 87.6 88.2 95.0 6.8
Nkl 73.4 75.7 75.9 75.7 76.4 94.3 17.9
HEohet 73.7 75.2 75.2 75.6 78.5 90.7 12.2
43 Cfstn 83.2 84.0 84.0 84.2 853 92.4 7.1

X173 BESHARS| 2RAAZH HEEHo|| M2t TS 2/ARISS thi 1Sstn 2 S5 2AE
% 2020 = S0 22, LAY sHEA| @ 0] thedt SNS = S ESLE 018510] 222! HIH ¢S 2AlcH 220 Chsl
A ‘D= 0j2ta TEHSh= 9|40| U2 = AUS

[13 3-33] 0[21d =& (TH?]: %, %p)
GAP(%p) +0.3 +0.1 +0.6 +7.4

96.4
88.0 88.3 88.4 89.0

20164 20174 20184 2019 20204
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5.2. 0]2{'d =Y A]7|
olz{d = Al7l= 2006~20100| 41.8%2 7t& %1, Ct2o=Z 20054 oA
24.5%, 2011=~20154 20.8%, 20164~2020 12.9% 4O =2 LIEHTY.
ZAYEIHE 0l21d £ AI7|E AmEH, 20065~20104 =St 2= Ssturt
43.7%, 2016'3H~2020F =St 2= MRS 42.1% 2 SO R Mot RAYEE
ol2{'d =UAIZ[0] &t0|7t U= A2 RARLCE

rr

(% 3-78] 0l21'd =2 AI7| (H2I: %)

T= 20054 oM 2006'4~20104 2011d~20154 2016'4~20204

A 245 41.8 20.8 12.9
258t 25.0 42.4 16.5 16.1
Sotul 22.2 43.7 27.8 6.3
nsstn 253 411 22.8 10.8
dEZost 20.3 24.7 12.9 42.1
AEA ofetn 41.0 13.4 24.0 215

(1% 3-34] Ol2i'd £ Al7|(2H91: %)

41.8

24.5
20.8

20054 O]H 20063 ~2010E 201149 -~20154 2016'd~2020E
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5.3. 0olald A& =2

HHug7|o| 2020 o[2{'d ZZU2 2,696 0= A CHH| 21.1%(4702) S7t
5t 402 LEQIC)

[

ZAYEHER 0[2{'d AlE HISS 2LEH, 434 tHfuIt 27.1%2 713 H|S0| M,

ES
;F;\ﬁ SHORE 729N HCE LIEfRILY.
o

e

2E55tuE= 23.6%, 1S58tHE 21.1%, 28t

0| AHACt,

19.0%0|H, H=LHst0] 9.2%=2 7t

=

[# 3-79] 0|2{'d AEY 712 ZO0[ (- HITHR)

20154 2016 20174 20184 20194 20204

169,494 171,798 199,500 205,624 222,647 269,666

4 iy
SUNEUE)

47,019(21 1%)

Al
=
EX
S
At
=
o
A
=l
[=]

Jhu

[# 3-80] 0|2{'d AlZ w12 (Tl

T3, %)

A 269,666 100.0
2SSt 63,566 23.6
235t 51,327 19.0
e -iami 56,935 211
HEoist 24,840 9.2
43 st 72,998 271
(12 3-35] 0|21'd A=Y = FO0| (The|: WiTh
GAP(H ) +27,702 +6,124 +17,023 +17,019
269,666
222,647
199,500 205,624
171,798
2016 20174 20184 20194 20204
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Ho 1@ o

2 S 5 713 Y B 32.07M2 LIERGICE ol2{do =Tt
Qufolut 0j2dS WilsSH: U= 4= T 11.97,

= J_L
Olzidg HZYOZ LUsH: BT & TR 252 LEHTH

A=
Uk ZAYEER 0l2d Y #2 2HEH, I U5 £ 49H HistuoiM Ed 894.77H=
o

= 71 W, ChEo 2 MELst 474.670, 1S58t 17.27, S8t 12.17, 258k 10.1

[E 3-83] O|2{'d 2ty == (- 7, %)

| opjdozpiey | emelolrziol ¥y | =zd oy
= ‘l
-6—J_
EEE

A 32.0 17.6 55.1 11.9 37.1
259 10.1 5.7 56.0 3.0 29.4 1.5 14.6
=%t 12.1 6.5 534 3.7 30.8 1.9 15.8
1sstn 17.2 7.5 43.5 6.2 36.0 3.5 20.6
dEZohs 474.6 2111 44.5 249.9 52.7 13.6 2.9
ASA| oEtw 894.7 548.8 61.3 322.5 36.0 23.4 2.6

SHAC| 2 THE 1t 571 OFL, M| AHFS 71222 8 0|21 2HY 2.

y =

ol21d 7HE2S 1= = 102+d 0517} 46.9%, 11~202+4 43.3%, 21~302+4 3.4%
=X

e [ 3-84] 217+ 0J2{'d HY HIZ (T421: %)
Ci 10243 of3t 21~3024 | 31~4024% 51342 0|4
%I 23 46.9 433
H 258t 64.7 30.6 1.4 2.0 1.4 0.0
Zstn 38.1 57.2 1.3 2.9 0.4 0.0
nf=t-rim} 17.0 64.4 10.8 6.9 0.0 058
5 Hecyst 4.0 4.4 6.2 6.0 5.6 73.6
= 4Y1A| ohstm 4.2 0.0 11.9 0.0 2.6 81.3
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5.7. 0] 4% &4 %

ol2d 4+ sk £5 AmEH, 501~1,00082 A7t 26.5%= 7t& B, Che
o2& 201~500%Y 24.7%, 50 O[5t 13.6%, 1,001 0|4 11.7%, 101~150%H
10.2% S92 =0|H, 7|2 g "7 569.68F0| +Udt= H2Z LIEIRLCL.

ZAYEER Gt 0l2{d #Z St £+ EHEH, 4EA| CistuoiM B 5,745.4482
2 7% %0, 2o MEMNSt 3,212.44%F, 18558t 482.20%Y, 255t 476.34%F
S8t 359.99F +0=F LIEIRITY.

[E 3-85] 0|2{Y &2 BHAH 4 (CHQ|: 9 O)

50% 51~ 101~ 151~ 201~ 501~ | 1,001% ma
0|5t 100Y 150%H 2009 500% | 1,000 | OfA =

A 13.6 10.2 247 26.5 1.7 569.68
259 15.1 7.8 12.3 3.8 22.3 24.6 141 476.34
Sot 19.1 8.0 10.5 5.1 28.2 234 5.7 359.99
anssta 4.3 11.4 6.2 7.5 27.4 38.0 53 482.20
HEZos 0.0 0.0 0.0 0.0 13.5 13.3 732 |3,212.44
AEA st 0.0 8.4 0.0 0.0 141 8.0 69.4 |5,745.44

[1% 3-36] 0[2'd & s HIZ (T2l %)

26.5
24.7

10.2
8.5

4.8

1~503 51~1002 101~1502 151~2002 201~5002 501~1,0002  1,0012 04
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5.8. Ol2id BHH U ot

20219 | ws2tH0lA 0l2{'d 2HH0| ZfA|st= HIS2 41.1%, 2022'H0|= 38.7%,
2023H0jl= 38.5%2 MUE(0] 2021 0|F R&KAHO = AT Aoz LIEWKICE & WS
ofl4k S 0l2{'d of|4t0] ZfR|Sh= HIS2 2021 6.6%, 2022'F 6.7%, 2023'F 6.9%=

M= =
o 2 w3l olg om M=
M
o
- [ 3-86] &= 0l21'd 1td L of| 4k MU (TR %)

A n]pY F 0l2{'d 2Ho| 2R |oh= HlE £ WK 0f4h F 0]21'd Of|AHH|E

A 411 38.7 38.5 6.7 6.9
zsstu 36.3 35.7 36.3 8.7 8.9 9.1
Zctu 49.5 447 44.0 4.4 4.1 4.3
nsstn 43.4 40.0 39.0 4.0 3.9 4.0
HdZelst 41.2 33.9 34.0 8.0 7.4 7.5
A4EA| st 31.2 24.2 22.5 7.8 7.5 7.9

(1% 3-37] &= 0[2{'d 2ty L oflct MY (T2l %)

20218 w20228 w20233

41.1
387 385
x| A
4 f
2z
= 6.6 6.7 6.9
o
A
E
TH RSP F 01 2PR0| Aot HIE T 1] HUE 0|32 HUHE
| =]
=
=2
=
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5.10. o|2{'d 0|8 WH

0|2{d 0|8 YHo2E= A 7&'5h= 27t 37.3%2 7ty B, Th322= 0|3d
MBIAT |20 QIEF 2F 33.4%, 2F UL 24.4%, VIEY 4.8% =O= LIEHCL

ZAYEHE Of2iy 0|8 WHS ATHH, 258k, Foku, DSSIE AN TF S

I-"_?E = )
,L;ﬁ B2t 0|2{d AMH|AT|H0| YEFSHE BVt HIS =22 HO|LL, MEstat 444 st
o

8 OlME A 125t 427t 50%E d3lote 22 LIEKCH

[E 3-88] 0|21 0| it (Tte): %)

o oj2{d
2 PIET=EY ol E
72 B2 | puaomeee | 2T 1et

A 37.3 334 244 4.8
z5% 40.4 37.4 15.6 6.5
Sotul 32.3 29.7 355 2.5
nsstu 33.0 31.0 31.6 4.3
dZohst 68.1 8.7 20.4 2.9
ASA| sty 54.4 23.2 22.4 0.0

Ol2{d 0]&7| 2ol 2= JiY HEHS HTEH, HREEQ| 7|H0f|A 0|21 MH|A7Z|2
018" 5t1 UM, “FOH/UCH 40.1%, AHA HL 16.9%, AHA+LIFHY 5.9%, “2F7H

& 2.8% 2= 0l2{d ZHZE L5t UL

ZAFERRE 253D 02fd MHIATIR 018'5H BT} T, HROHST 4%

CHstas WL 6H= H|Z0| O &2 ZOZ LIEMIT

P S B —

x4
Cel [ 3-89] 0|21 ZEll= Thet HIS (THe): %)
¢ o[z : :
5 ElAaz|e opg| oW/ A N | 2R
= A 62.9 40.1 16.9 5.9 2.8
25 71.0 36.0 14.2 35 0.0
= st 54.4 50.9 17.2 4.0 4.9
; nSstu 58.8 395 18.5 11.0 6.4
- HdEohst 14.2 14.0 53.9 30.7 1.7
AAA| st 33.0 15.2 48.5 33.6 8.6
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Fe2 S 51T Qs DRYIVOIN HHLE A7t ol2fg BHZO| AP B

25.37, YaY0|E A= B 14.22102  /UA-s T 30.529=2 LIEHRTL

ZABEHRE 2 Jju7Ss M5t 6527, 43K CHSHR 60,37, 2S54W 53,8740

= & i Ao 7|&2%2 Upgrade 2
| 39.5 253 14.2
zSst 53.8 42.6 11.1
Zstn 20.6 11.5 9.0
Int=seiami 32.2 12.0 20.1
dEZohst 65.2 42.4 22.8
AEA ofstn 60.3 36.5 23.8

Ol2{d Ol87|e| ug ZHUHXE & HIZS HTEH, Ad221 BSAMOIE'Tt 26.2%

2 71Y HOM, CIZO2 "W/UBA0IE’ 25.7%, ‘W4SIERIJMIE! 16.6%, ‘AZ1SH
MNOIHERS 16.4%, OIFY 10.7% 52 #9=2 LtERITH

ZAYHEZE XSSUE AE2EHQ WFAOIE' Q| HIZ0| 1, St N Stu=
WRYSAO|EQ| & HIEO0| oM, MILHstat 484 tistu= W4SISAIRME! 28

! AERSH | (IZ)ARael | pists
= WFL | goiats | msaolE |z
A 10.7 16.4 26.2 16.6
2S5t 12.7 20.0 304 13.7
=5t 9.0 16.1 20.2 14.7
nESy=iami 93 99 26.2 18.3
H2ost 0.3 0.5 7.7 82.2 6.6 2.7
4AA| cistw 0.8 0.3 4.4 75.9 6.8 11.8
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5.11. o]2]'d =% E0f

ol3|d £Q! 20tE AMEMH 7 WS 0| 43.3%=2 7H¢ U1, CReoz A Wit
O HZXMZ EHE 41.0%, A=0 4.7%, HEI|E 4.0%, ‘EHEET 2.5%, ‘ss=H|1t
A 24% 59| &=9= LIEIRICE

S
5 ZASEAZ Ofafd £9 OIS ATRH, Z5us A7 wu=el BaME B HIRO|
o
2 =OM, ZECHstu} 44K tfstues M W J-'-Féi’ HI20| 70%E He A= LIEFICE.
[H 3-92] 0l21'd = =OF (Tt %)
»5
=H|
X o] 124
2 E-'l J—I'o
o N
z 23| 433 410 40 14 | 47 2.4 25 0.2 0.6
j%‘l 2S8tm | 452 @ 404 @ 48 1.2 4.7 02 32 0.0 0.3
fv: zstn 401 | 467 | 32 15 4.9 0.0 23 0.1 12
&t nSsm | 383 | 380 | 35 1.7 46 | 117 | 11 0.9 0.3
decyst | 716 | 172 | 26 15 36 0.0 0.0 0.4 3.0
AR cpstm| 733 | 206 | 09 0.8 1.2 0.0 0.1 0.7 26

[2% 3-39] 0|21d = ZOF(THRI: %)

43.3 1.0
A
4 81
s
At
E
S
74|| 4.7
X 4.0 .
— 1.4 2.4 2.5 0.2 0.6
v Eq4udsL JEJE EJd 920 SEFTHALE EEzmE MUJE 7| Ef
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5.12. o]3i'd 2 =4
ol2d 2% 542 4nEH, 1£22= Y uat Y| BF'0| 59.9%= 71y B,
o

=
CI2o2 ‘WOl ZA Sk 17.9%, 7|2 WAl Zolo| &l 13.7% &2 =0 = LIEtRICE

="
142222 ‘A W} 40| HZ'0| 80.2%=2 7H& U1 L1202 ‘W]9| A AV
50.7%. 7|= DAl Zbolo| EHI] 25.7% S0 402 LIERICH s
9
ko4

TE 3o wa
A 59.9 17.9 13.7 6.3 1.4
z2ssn 546 21.2 14.0 7.1 2.2
Zstu 67.0 12.3 15.8 4.4 0.6
1nsstn 67.9 14.8 9.1 6.2 0.7
HI2chst 38.8 23.1 115 26.6 0.0
43| cfstm 32.6 391 273 1.0 0.0
[H 3-94] o]2{d 2F S (1+222]) (T42]: %)
g | S -
HHol B
| 80.2 59.7 25.7 7.4 7.5
2% 77.6 59.9 28.1 8.4 7.0
=stu 84.4 61.0 255 59 9.9
1nsstn 843 56.5 171 6.2 6.2
H2chet 76.7 36.8 346 26.6 4.0
43| cyfstm 496 81.7 471 52 2.1
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5.13. o2 0|2 =

1
rE
l?k
2
0

ol2{'d 0|8 It5F 4 Het HUYS AmEHA, A
= SMsEA HZE ol

41.4%, W Z7F 6.1% «0|H, 2I2Ql W
QIAOl WS HIRFE= W2 L= ZIPE A

CigoRE HH4EL

J:S
oy

ZAYEER MEH, 02Uz 2FEl= A= o Hel MY
S= HXS
37Fet ‘S7F HISO| 0= A= LIEfRTt

HAHSIAHLL 0|22 2Rl ]S

S H
=
ERVES

™ WS51HY0| 0[2HC R 2Fkl= a5

=
te 40| 50.0%2 7Hd %,

[feozs

=y

=1t 0l2{dS FASIALE ol2de=

b= ot= =

0|2t= 40l
" 41.0%, T 37F 8.4% «Q= LIEMICE

48.4%= (& Hi,

[# 3-95] 0[2{'d 0|8 1= 4= 13 T (02U Z 2F) (Tl %)
= o< 37t = MeE HIZ P
A 6.1 41.4 50.0
2530 4.0 40.9 52.8 2.4
st 8.6 40.7 47.6 3.1
ni=x-ijm] 7.4 421 49.0 1.5
M2t 11.9 52.9 292 6.0
A'AR| st 13.5 54.3 30.2 2.1
[¥ 3-96] 0[2{d 0|8 2= 4= Hat AU (0222 B2 RF) (T %)
o< 37t 37t MeE HIZ A
A 8.4 48.4 41.0 23
eSS 7.5 44 4 46.2 1.8
st 7.0 51.6 37.8 36
ni=s-iiml 11.6 52.0 34.8 1.6
dEost 15.1 61.2 17.7 6.0
43| CHstw 14.5 70.0 15.5 0.0
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5.14, Of2jd XY Y Ba|

o[21d Al¥ F 22| dg= 4HEH W& 5{7kA[ 0] 53 THH (5H=0i%
AS2A)0| 3.234e= 7t =11, L2 ‘Yz 2YAY 3.163, ‘24 02'd 2o

CHet A1 3.15%, Ol2d 2H= AR 3.068 52 22 UERITt

M xE

ZAHEE= o2y AW U 2 HYS W=, oPid 22 Y R EsE )
o

o

AR CHEHZO|A 3.44H02 714 &1, Cteoz2= MRS 3.424, 2530 3.263,

nsstu 3.26H, St 3,128 +=0= LIEIRICE
[#3-97] 0|2{'d A& & &2| A& (Tl 58 THY)

VN VEN

7I-z|‘.> olz'd — 7I-o|°

TNz 2 =
[=]

A
71|

| 3.23 3.06 3.16 3.15 2.92 2.92 3.02 2.83 3.00
258t 3.26 3.01 3.17 3.16 2.90 2.91 3.01 2.77 2.97
=%t 3.12 3.00 3.06 3.06 2.81 2.81 2.93 2.79 2.96
S 3.26 3.18 3.20 3.22 3.06 3.03 3.13 2.97 3.08
Al 1y 3.42 3.76 3.74 3.44 3.30 3.38 3.36 3.49 3.45
49 Chstw | 3.44 3.50 3.51 3.08 3.41 3.38 3.45 3.54 3.51

[2% 3-41] 0]21'd A& & 22| ek (Thel: 53 THY)
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5.15. ol2{'d =9 7|cf&qt

oz{d ¢ 7|tEE AWEH, 1&£22= TIYS 37 L +22
48.1%=2 71& B, CHEo R Sf5R Hl-g;‘* Moz wg o &4
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M CfH|
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1.2
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LN TESES 31.2 40.3 8.0 7.8 5.1 7.6 0.0

g S21/71et 38.1 21.5 13.0 8.4 10.1 9.0 0.0
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‘i" At 25 12.7 20.0 304 2.6
X
ol.zc__:!;l_ S5t 9.0 16.1 20.2 8.3
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dEZost 0.3 0.5 7.7 2.7
4A| chstn 0.8 0.3 4.4 75.9 6.8 11.8
i [#4-105] 0J2{'d = 2OK(THI: %)
3
E 3
X e
=t
o
3
g A 43.3 41.0 4.0 1.4 4.7 2.4 2.5 0.2 0.6
255 452 40.4 4.8 1.2 4.7 0.2 3.2 0.0 0.3
X| 0 _
3" E-I ot 40.1 46.7 3.2 1.5 49 0.0 2.3 0.1 1.2
(= _
° f nssta 38.3 38.0 3.5 1.7 4.6 1.7 1.1 0.9 0.3
i
-f'l- H2ohst 71.6 17.2 2.6 1.5 3.6 0.0 0.0 0.4 3.0
= 49 gt 733 20.6 0.9 0.8 1.2 0.0 0.1 0.7 2.6
z
5

o om 2= P 2z

o InESEiml 67.9 14.8 9.1 6.2 0.7 0.6 0.7
=}
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=

AR Chstw 32.6 391 27.3 1.0 0.0 0.0 0.0
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[#4-108] 0|2{'d 0|8 1t= 4~ H3t HY (0[2HJUL2 2F) (T2l %)

23 41.4 50.0
eSS 4.0 40.9 52.8 24
el 8.6 40.7 476 3.1
ni==-ijm| 7.4 421 49.0 1.5
HE2CHst 11.9 52.9 292 6.0
ASA| oHEtw 13.5 54.3 30.2 2.1

[#4-109] 0|21 0|8 1t5 == Hat YL (0|2'd 22 BE22F) (Tl %)

A3 48.4 41.0 »E~EI;
EX=- ] 7.5 44.4 46.2 1.8 ﬁ
Zstn 7.0 51.6 37.8 3.6 £
S 11.6 52.0 34.8 1.6 ;:,!
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4E1A| o3t 14.5 70.0 15.5 0.0
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s z8tm 32 18.4 49.9 20.3 8.2
el nf=E sl 3.4 172 407 27.0 17
HEh 0.0 6.4 45.5 48.1 0.0
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20.7 47.5 22.8 5.4
3.9 17.8 54.8 20.1 3.4
3.7 257 42.8 22.3 55
2.7 24.3 35.6 27.7 9.7
0.0 3.6 33.0 47.3 16.1
4.1 54 385 40.1 11.9

(2 4-112] 0l21'd A2 U 21| S - ALY (H): %, 5% BY)

(=] (=]
Wea3d | 233 | =E | A3 | oo a3

L

1.4 16.6 51.9 24.9 5.2
g 09 148 53.9 26.9 35
v 16 19.7 55.6 176 5.6
S 2.0 195 43.9 25.7 8.9
e 00 00 386 489 125
6.2 2.1 326 52.8 6.4
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[24-113] Ol A2 Y Ba| B - 94 0[2{ 143 224 (EHS): %, 53 TH)

[

13| 2.6 18.3 46.6 27.2 5.4 3.15

z2s5in 2.6 158 47.8 30.6 3.2 3.16
zstm 2.6 22.0 492 19.7 6.6 3.06 s
fnf=2%n} 2.0 20.7 406 26.6 10.1 322 2

Hzoe 0.0 7.2 416 51.1 0.0 3.44

AgA chstm 87 17.0 36.8 32.4 5.1 3.08

(B 4-114] 021 2|2l Y B2 348 - HIFALE TN (E91: %, 52 2HE)
2| 5.2 24.3 46.8 21.0 2.8 2.92 2
258t 5.5 203 54.8 17.8 1.6 2.90 ﬂ
=] 5.4 336 37.7 205 2.7 2.81 5
inf==Tim] 4.1 24.9 38.2 26.9 5.9 3.06 E
H2oE 3.6 3.6 51.5 41.2 0.0 3.30 x| o]
AdA cstm | 4 6.2 40.0 44.6 5.1 3.41 %EJ
Py
[ 4-115] Ofzfid Xl U 22| S5 - B2 (B49): %, 53 2H3) -
13| 19.8 54.9 17.1

B3 5.6 156 62.4 145 19 2.91 E
z3tm 5.6 26.8 51.8 12.9 2.9 2.81 -
k=] 49 23.4 40.8 25.9 5.0 3.03 S
Hecyst 36 0.0 50.7 457 0.0 338 g
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[#4-116] 0|21 A& & 22| S - 22| HLEZ™ (T2 %, 53 )

A 4.0 18.9 51.1 22.6 34 3.02
zZs%tn 4.2 15.5 57.0 214 1.9 3.01
Sstu 4.8 23.0 49.8 19.6 29 2.93
nSst 2.6 245 37.7 27.7 7.5 3.13
M2t 3.6 6.0 40.8 49.5 0.0 3.36
4G cfEtn 2.1 5.6 491 31.5 1.7 3.45
[E4-117) Ol2id |9l U 2| 345 - ) M (Thel: %, 54 0H)
24 23.8 52.4 14.3 3.0 2.83
xSl 7.7 242 53.3 13.3 1.5 2.77
st 59 248 55.3 1.7 2.3 2.79
nEShn 5.0 239 47.5 15.9 7.7 2.97
HEohst 0.0 7.2 42 .3 44 3 6.2 3.49
4AA st 2.1 3.1 40.6 47.9 6.4 3.54
[ 4-118] Ol2fg) 12l & 22| 38k - UL (E19: %, 52 BHY)
Weadd | 233 | mE | a3n |uemzy | wma
A 19.7 50.1 20.3 4.9 3.00
25 54 18.4 535 19.1 3.6 2.97
Sstu 55 20.7 496 20.3 3.9 2.96
nsst 3.5 23.7 434 20.2 9.2 3.08
Ha2oE 0.0 10.9 39.8 431 6.2 3.45
4AA st 2.1 7.2 37.8 43.6 9.3 3.51
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HEoyst 416 20.9 13.1 14.3 10.1
4HA| CHetm 51.7 19.2 17.4 4.4 7.3
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A 69.1 422 35.6 27.1 13.8
E3=3-1am] 67.5 39.8 373 25.9 16.0
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nE=t-im] 70.7 428 31.2 322 11.4
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E}
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258t 47.9 237 220 5.9 0.5
1
=5t
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g ni=-iaml 58.1 17.6 18.0 6.2 0.0
;1 HE2rhst 69.6 4.0 4.4 21.9 0.0
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=l AR st 63.8 6.3 14.7 12.2 3.1
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Al
=
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=
A = 7\t
E
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A
- A 0.5
2E5t0 0.9
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2 nESg ] 76.9 49.7 34.0 16.8 0.0
HEchst 84.5 37.8 16.3 50.9 0.0
48 et 91.9 39.3 27.5 26.0 3.1
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A 42.6 38.8 5.0
25t 0.0 66.2 134 20.5 0.0 SES
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2121 7ol 2483

Melo= wg
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A 30.2 28.2 24.6 9.0 8.1
255t 0.0 46.9 39.7 13.4 0.0
Sotu 334 20.6 34.2 0.0 1.7
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A 28.5 23.6 20.5 16.5 10.8
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nt S iml 34.5 40.6 24.8 0.0 0.0
H2ohst 0.0 39.2 60.8 0.0 0.0
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J‘.l-E_'AlAE-II VIET
(L ), HYER EEL-ER
S &34 £ ASPA|2!
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ELL
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7| ZA| YRR A 91.1 8.9
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usy 100.0 0.0

AR YA A 100.0 0.0

JEtES |2 69.8 30.2
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YEZY7|H 16.7 55.6 222 5.6
7| Z A LR A 7.7 66.7 20.5 5.1
A LSAY S 20.4 38.8 34.7 6.1
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A 60.4 39.6
HESAI|H 72.2 27.8
J;il ﬁ 7|2 2| AR | T 51.0 49.0
’é*g 2| YBALRCH 67.3 32.7
mE=2s! 941 5.9
2| YRPR| A 70.6 29.4
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i [ 4-140] Ol2{) BT Q121 2 I SIBH(HQL: Y, 7H, %)
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El T2
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;’4 A 25.5 1433 114.0 79.6
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,-351 | LZAY S 10.9 2.4 21.5 100.6 66.5 66.1
o O
ES eSS 9.1 2.2 24.1 101.8 57.9 56.8
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2778 2020 o2{Ar AEjZAL



Mo 12 fo

[H 4-142] o|2{'d 2RI J{L-0]8 LA (The]: %, 358F)
A-||:||A7|4_|- (0]E=3
3| 87.7 7.9
Hezo|H 375 25.0 25.0 12,5 6.3 -
NEAYARTH | 97 0.0 5.7 0.0 0.0 e
| BAL B 911 133 8.9 0.0 4.4 =
nE=E! 471 29.4 235 5.9 11.8
oz Y 750 12.5 18.8 18.8 0.0
=Rl 89.7 5.1 2.6 10.3 0.0
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